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FFg 4 k5 FHE I H RAEHLR
1 FH R 4 R ——ly A A
2 FRAR AL 31 Qsksksksketseskskoketokok 4 32 A TR
3 R i 31 Qskskstestskdokskkokkx Q5 | A AR
4 AT 31 Osksksosksistoskokekokok k2 5 3 A W
5 ek = 31 Oskskstesksisioskrtokok k8 3 X A AR
6 [UEp e 31 Qkskatskskstokokoskokatok 220 A W
7 Xl 342k kxR RKF X953 N1 WA
8 AR 310kt 1016 N1 TR
9 &/NE 31 Qsksksksotskkoskkk 61 4 N1 7R
10 PRAR B 10%kkskskkkrkk kT 18 N1 A
11 B RARH 29 0kkkekskskkokoksk k07 7 N1 A
12 1% % 5 1525k 1 2 T A
13 HAH 34 Dsksoksokok ok 4k 333 Gl A
14 T 320skskskskssskkokokokk 2 3 ) Gl TR
15 el N e 32 | skfkekeksokokokok 8 1 X Gl A
16 R— g 350skkkkskskkokoksk k035 Gl B
17 E 41 sk (03X Gl HA
18 J) 2. U 1 40s%skskstskskskstokskokok 237 Gl WA
19 2 31 0%kkskkkkkkH %032 R1 W
20 L] 420skskskskskskokekek k8 29 R1 7R
21 YW 32 | skekskstskokokokokk 789 R1 TR
22 K 31 0sksoksokok ok k6062 R1 A
23 LA R ——nr R1 A
24 RS 31 Qsksteeeksisokokskok 0 1 X R1 A
25 RN 31 Oskskskskskskskskskokokok 5 1 5 R1 B
26 it 2 31 Qskskskskskskkskokokok 21 1 R1 B
27 Rz 31 Qskskskskeksiesokskeketesk 02X R1 W
28 7K H o 310%kkskktkrk 4815 R1 B
29 = 330k k%9 1 ) R1 WA
30 T Ise . 310kl k k84X R1 RS
31 W= g 310%skskkikk k625 R1 A
32 (i3 s 310k ok k322 R1 7R
33 X 310%skskkikiokik] 16 R1 A
34 N 37 0skksksksksksioskokokokk 52 5 R1 AR
35 HE 31 Qskkekekstesskokskskkk 9 1 2 R1 A
36 i /b B 342k kxR KKK KSTT AG3 WA




